
𝑦 = 𝑏𝑥 ↔ 𝑥 = log𝑏 𝑦  

Change of Base formula:  log𝑏 𝑎 =
log𝑎

log𝑏
 

Product Rule:  log𝑏𝑚 ∙ 𝑛 = log𝑏𝑚 + log𝑏 𝑛 

Quotient Rule:   log𝑏
𝑚

𝑛
= log𝑏𝑚 − log𝑏 𝑛 

Power Rule:  log𝑏 𝑥
𝑎 = 𝑎 log𝑏 𝑥 

Basic exponential model:  𝑦 = 𝑎 ∙ 𝑏𝑥  

Half-life:   𝑦 = 𝐼 ∙ (
1

2
)

𝑡

   

Percent Increase:  𝑦 = 𝐼 ∙ (1 + 𝑟)𝑡                    Percent Decrease:  𝑦 = 𝐼 ∙ (1 − 𝑟)𝑡 

Interest 

Simple:  $ = 𝑃 ∙ (1 + 𝑟)𝑡              Compound:  $ = 𝑃 ∙ (1 +
𝑟

𝑘
)
𝑘𝑡

            Continuous:  $ = 𝑃 ∙ 𝑒𝑟𝑡  

   

Newton’s Law  of Cooling:  𝑇 = 𝑇𝑚 + (𝑇𝑜 − 𝑇𝑚)𝑒
−𝑘𝑡 

 

Logistic Growth:  𝑓(𝑥) =
𝐿

1+𝑒−𝑘(𝑥−𝑥0)
 

   




